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1.

The energy equivalent to a substance of
mass 1gis -

(A) 18x1013J
(B) 9x1013J
(C) 18x10%J

(D) 9x108J

The half-life of tritium is 12-5 years.
What mass of tritium of initial mass
64 mg will remain undecayed after
50 years ?

(A) 32mg
(B) 8mg
(C) 16 mg
(D) 4mg

In a CE amplifier, the input ac signal to
be amplified is applied across

(A) Forward biased emitter-base
junction

(B) Reverse biased collector-base
junction

(C) Reverse biased emitter-base
junction

(D) Forward biased collector-base
junction

1 10 Tod1 R 3§

(A) 18x1013J
(B) 9x1013J
(C) 18x108J
(D) 9x108J

L3A000R LgRrodnwy) 126 DRFNTONT.
64 mg WL ZFTHSOWT E3 403003
23, JRed 50 SRFY FoIT TedZgond
Torte LveRTOIZT ?

(A) 32mg

(B) 8mg

(C) 16 mg

(D) 4mg

JosnRFod ac &)CSJZSE‘ M’jp‘dl, CE
SRz 0T RY, TIRFRD esddmmcs

(A) ORI WO, QRLITT-WIT*
WOET

(B) OTATF WY, BUEO'-UIX° wWOF

(C) o==F WOTE,  DE0EITT-LT
RWOF

(D) THOIEF WORRS,  BSBO-IRe
ROF
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- 4. If A=1 and B = 0, then in terms of | 4.

Boolean algebra, A + B =
(A) B
(B) B

© A

el

(D)

5. The density of an electron-hole pair in a
pure germanium is 3 X 1018 m=3 at
room temperature. On doping with
aluminium, the hole de‘nsity‘increas_es to
4-5 x 1022 m—3. Now the electron density

(in m~3) in doped germanium will be
(A) 1x10%°
(B) 2x101°

(C) 05x 1010

A =1 Ebgg B =20 Qﬁdd, m@wg&-ﬂ
WewNISE [FC A+ B =

(A) B

Wl

(B)

©) A

>

(D)

3peRod IRRIBY,  wordd BT,
wdgesderdooRY, HTT - gog,
HreRodd moBB0dn 3 x 1016 m3 '&nd,
Sl eméaaaodoozood Bdoem®
SRBN Jog, MoBZaIN 45 x 1022 m3
S, HRMHIB BN B B SN
#3003 adRy o3 (m IQ)
- ondEd.

(A) 1x1010 -

- (B) 2x1010

(C) 0-5x 1010

@ 4x1010 |

‘ (D) 4 x 1010

T Space for Rough Work / 2.8 ioﬁ% Qeé
Rioa™ -
e
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6. The dc common emitter current gainofa|6. n-p-n &333) da‘ TR NOWT® FT0LIF
n-p-n transistor is 50. The . potential Res  50. CE 3080 INTODHS
difference applied across the collector and |, ”
emitter of a transistor used in CE Jodeenag  Qmo30R Vg = 2V.
configuration is, Vog = 2 V. If the 3U80'8  Geg®) Ro = 4 kO, 033, N
collector resistance, R = 4 kQ, the base 8805 () o3y I i o 3dosF (I) o
current (Ig) and the collector current (I¢) _ . :
—_— 33
(A) Ig=10pA, Io=05mA (A) Iz=10pA, Ig=0-5mA
(B) Ig=05pA, Ig=10mA (B) Ig=05pA, Io=10mA
(C) Ig=5pA, I[o=1mA (C) Ig=5pA, Ip=1mA
(D) Ig=1pA, Ig=05mA (D) Ig=1pA, Ig=05mA
7. The radius of the Earth is 6400 km. If the | 7. A ToTAMewo) 3%, 6400 km {’jf.\d@- 200030
height of an antenna is 500 m, then its eo&é‘emd 238 500 m &3, eddm&
range is
(A) 800 km @) 800km
(B) 100 km
(B) 100 km :
(C) 80km
(C) 80km D) 10km
(D) 10km e
8. A space station is at a height equal to the | 8. 2000 Z¢x* ﬂ,f"@iae aiciabiovs %u 3
radius of the Earth. If ‘v’ is the escape AENTT @355@5 Vg’ BRI 3503 5
velocity on the surface of t'he Efarth, the DR e ﬁmf\ o 9, e Fexr
same on the space station is ‘ L
times vy, - %@ﬁa‘ﬁ@m v Ood® i‘? RT3,
1 1 1 1

A) = B) = A) = B} .=

(A) 2 (B) 1 (A) 2 (B) 1
1 § 1. 1 1

< —= D) — C) —= D) —
nE 7 7z 7

Space for Rough Work / 2.0t 3038 3¢
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10.

A particle shows distance-time curve as
shown in the figure. The maximum
instantaneous velocity of the particle is
around the point

*
S
§ R
A Q
P
>
Time
A P B) S
(C© R D) Q

Which of the following graphs correctly
represents the variation of ‘g’ on the
Earth ?

g

L

(A)
r
R
4
(B) | : ':
: r
R
g
(© ‘ :u
) r
R
g .
A
(D) : E
r
R

10'

2,000 8698 BRT-RRIONT =gT> Beadod
3R, 3eORTONT. B BrT NOT I8
Seniz) B3 WOTDOROT THTETVREIT.

ﬁn
S
R
o)
o Q
P B
oo
A P B) S
© R D) Q

& NS SEnYQ, odRI  Penoad
203 g 3 I\RISD),  ROcIRN
2oWRIZT ?
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0 IA&,
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11. A cup of tea cools from 65-5°C to 62-5°C in | 11. 99.5°C ZoTRNINCOT BREFBODY, womd
1 minute in a room at 22-5°C. How long B 235 65.5°C 0T 62-5°C 1t 1 ROTIY,

ill i .5°C to 40-6°C
will it take to cool from 465 C 30 : Ed. ﬁde meﬁwQ 46'5°C aod

in the same room ?
405°C 1R Sowonew SR Food
(A) 4 minutes

Sﬁz:‘bﬁmdo‘gd ?
(B) 2 minutes A) 4 DO0RAD
(C) 1 minute (B) 2 Q0INLL
(D) 3 minutes (C) 1R
(D) 3 ATNEL

12. The dimensi he ratio of o ;
e dimensions of the ratio of magnetic | ., - o o 5. @ 2 ma’*’%@ (W 1

flux (¢) and permeability (u) are
: ehIT HodRdR) __ ehd.
a) MOLITOAY
07170 Al
B MOLSTO Al @A) MOLI T AY

@) MOL3T0Al
©) mMOLIT!A™Y

@ MOLZTOAY

© MOLITIAY
D) MOLZTOAl

18. A mass ‘m’ on the surface of the Earth is 18. 4RO et m adid

shifted to a target equal to the radius of gdsmb@ab-t RR00DH %z:sﬂa RO
the Earth. If ‘R’ is the radius and ‘M’ is 3eoBQs  rer Ryeo3oITond.
the mass of the Earth, then work done in geaood 3z, R &3 BF,008 ‘M’ ChiaUR
this process is 81 300 NS BT JRed
lobink
@ D2 (B) mgR NS
(A) m—gR (B) mgR
R
(© 2mgR m I8
4 (©) 2mgR (D) ’—“—f—‘-

Space for Rough Work / 2.0 $&%¢ 3¢
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14. First overtone frequency of a closed pipe 14, 1y VGRS owd Sy Evaod
of length ‘lffi:neq;::nmp::: i‘f‘“lelilagr::)};if SHBOS LEWTER STFIE 1y’ CWHADE
frequency 0 = 2,00 36T vl SOBI Ron3y LF S

The ratio h- = l
la RNt TR - =
2
3 4
3 (B) -
(A) 4 3 (A) 3 (B) 4
3 D) 2 ; :
C ol —
© 3 3 © 3 ™ 2

istance R= — Wwh v v
15. The resistan I ere 15. dp¢g R = T’ V = (100 £ 5) 0B

s d1=(1002)A.
V=(100t5VandI=(10+02)A 1_=(1010-2)A,_ec$d,draeqﬁRaid’g;&cS:aeai

The percentage error inRis

A) 52% deig

(B) 48% : (A) 52%

© 7% , (B)  48%

(D) 3% (C) 7%
| D) 3%

16. A block rests on a rough inclined plane

maki an angle of 80° with the 16. 2,000 20070 m’daéw%d S8

L]

horizontal. The coefficient of static Boodieorod, 30° 8RIRY, 2,080
friction between the block and the plane Al jasleler e ATY &@éoﬂaeﬁ’gﬂa%ﬁ, 300w
is 0-8. If the frictional force on the block =2 Btﬂ:ﬁbbr{c’ SR ROVTRFTS 08
) ; = ' ® '
is 10 N, the mass of the block 18 B0y BeOF DRFB wo 10 N, 85,
(g = 10 ms?) :

2003OT 008, (g=10 ms™2)
(A) 1lkg

(A) 1kg
(B) 2kg | B) 2kg
(C) 3kg (C) 3kg
(D) 4kg (D) 4kg

Space for Rough Work / %00 GOSG* zee:
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17. Two particles of masses m; and mg have

18.

19.

equal kinetic energies. The ratio of their
momenta is

(A)
(B) mg:my
(© Jmy :ymy

©® m?:m}

mq : Mgy

The pressure at the bottom of a liquid

tank is not proportional to the

(A)
(B)
()
D)

Acceleration due to gravity
Density of the liquid
Height of the liquid

Area of the liquid surface

A Carnot engine takes 300 calories of
heat from a source at 500 K and rejects
150 calories of heat to the sink. The
temperature of the sink is

17.

18.

19.

m; I my TR 2OB>  Beaned
IDBoS  BFODI BroORR, BINE
oRden TR

(A)
(B) mg:my
(©) {m; :mg

(D) mf : mg

mj : Mg

BRO0E 62,0873 VT, 1IBY CARRTY
90T 80> SNTORIY,

(&) 1OB3, FerpeImE

(B) BB3WoBZ

(© 3BT

(D) BRB ee] 3 DAL

FEF D06, 500 K 200me0d0d
300 TR TDBJS 3rt03038, RR
150 53, €0¢d DT ZoD B3, DeRIT.

&7 Zo) FRII ema'gaé
A) 125K (B) 250K
© T50K (D) 1000K D . AE ® 260K
(C) 750K (D) 1000K
20. Pressure of an ideal gas is increased by | 20. AT B, SEIF BUOT  WIBRI),
keeping temperature constant. The 230N 5Ny PO 38
kinetic energy of molecules = : ”
A) 3aR sroPY:
(A) Decreases
(B) Increases (B) ﬁngb@m
(C) Remains same ((8) _mﬁeo:be VP OTNR)TO
(D) Increases or decreases depending on (D) ©A® mépaad woed aéwangd)da
the nature of gas T 8RR SRR
Space for Rough Work / 2.8 Goﬁi* fﬁ'
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21. A man weighing 60 kg is in a lift moving | 21.

down with an acceleration of 18 ms -2,
The force exerted by the floor on him is

(A) 588N

(B) 480N
(C) Zero

(D) 696N

99, Moment of inertia of a body about two 22.

perpendicular axes X and Y in the plane
oflammaare20kgm and 25 kg m?
respectively. Its moment of inertia about
an axis perpendicular to the plane of the
lamina and passing through the point of
intersection of X and Y axes is

(A) 5kgm?® (B) 45kgm?®

C) 12-5kgm? (D) 500kg m?

23. Two wires A and B are stretched by the | 23.

same load. If the area of cross-section of
wire ‘A’ is double that of ‘B’, then the
stress on ‘B’ is

(A) Equal tothaton A

(B) Twice thaton A
(C). Halfthaton A

D

Four times that on A

(D)

sy, ROROFR 18 ooe 2 RN
BOBHR OFRL, 60 $.100 BROWS,
edd TR JoPeR oI Hoed
ajo&raeh"’maﬁ WOR)

588N

480 N

oA

696 N

(A).
(B)
©)

(D)

oy TOHE EERTIR), YR
Wdoed 1 ©owmNGOR X 303 Y wgnen
esoroeesn 20 kg m? 3y 25 kg m?
&Ngo3Ss, TMREC S0R>  Ened
(X R Y) BoORB Tene radddmb
OGRS RRBOTEA, HTONT BRET

IR Thalevrin
(A) 5kgm? (B) 45 kg m?
(C) 125kgm? (D) 500kg m?2

3010 BRoDTT HTH> 303N A )
B 8NN3, ‘A’ 308030 @gens DRerarEty,
oroentevamen B 3 et evotmrdd
QEBIR) -

(&) A B 2@ FRTNCYE

(B) A T 2330 SO BeRNZTI

© AT B8 ogrEagss

A T 2eBIT T TEIRNTIS

Space for Rough Work / .0t $038 3¢
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. (B)

24. The magnitude of point charge due to

which the electric field 30 cm away has
the magnitude 2 NC™! will be -

A) 2x1011C
3x10711C
5x10°11C
9x10711C

(©)
(D)

25. A mass of 1 kg carrying a charge of 2 C is

accelerated through a potential of 1V.
The velocity acquired by it is

(A) V2 ms!
(B) 2ms!

L -1

1
C .
(C) ﬁms

-1

(D) ms

| =

The force of repulsion between two
identical pdsit_ive charges when kept with
a separation ‘r’ in air is ‘F’. Half the gap
between the two charges is filled by a
dielectric slab of dielectric constant = 4.
Then the new force of repulsion between

those two charges becomes
F F
A — B
(A) 3 (B) =
o E o) AF
4 9

26.

26.

24, 2 NC-! ZRReTR O §e300T 30 em

Re0EOg woh ARy $Sen FIR

2x10°11C
3x1071C
5x10°11C
9x1011C

(A)
(B)
©)
(D)
| kg Oobco, 1V 2RRQ.2 C eeda,
es8ISees” SRBLD BRoDTORF Wenwy

\/E ms‘l

1

(A)
(B)

2 ms™
L ms_l .

72

1 ms~!
2

(®)
(D)

AP SBeBIE, TR oD es3e3ne
SRIT Bed MDY T AT BJYnT
Calerde 2R WO T ShleV il |
©0303 BQFER), ea&wﬁdd}pd%aqdmedﬁ
AT 4 V|BOR daz:gdérodaagtagp ]
433N IBNT BRI BIFH  WOR)

daia, sr38.
(A) .E (B) F
3
F 4F
© 7 D =

Physics

w9
oA
P

i
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27. For the arrangement of capacitors as |27. o03NY RREBODTY, TprorRooBTA

shown in the circuit, the effective
] 2 =
capacitance between the points A and B is SREEEE . Uﬁa%ﬁ’

(capacitance of each capacitor is 4 pF) A % B ogone djdﬁ 03

— TOFRITIO FOTBS AW
_L4p.F —L4uF o > 4
A»{ }—-B.:E:;p}r J‘_4uF —L4uF 1
_I_4p.F T4uF A-—{ }—B 4 uF
4 uF 4
| g Bl M T
(A) 4uF (B) 2pF (A) 4pF (B) 2pF
(C) 1pF (D) 8pF (C) 1pF (D) 8uF

98. The work done to move a charge on an 28, ot RPN doed oD, 20w

equipotential surfat_:e is . 'ad%s = Eﬁ&f@éﬁd&q @ORED &R ORI
(A) - Infinity esN3I3.
(B) Lessthan1 | (4) =03
(C) Greater than 1 (B) lr‘%o:% TR
(D) Zero ‘ : (©) 180368
(D) 3T

5
29. Two capacitdrs of 3 pF and 6 pF are|29. 3 uF 03 6 pF @dR HTB FoUINER)
connected in series and a potential Beed 2reBER INEPNE. #mﬁi 900 V

difference of 900 V is applied across the S 303 3
. Thiy, srs e liscoinits 4 ADTADI) ), goiraen%d. o0sN%

and reconnected in parallel. The potential O3PS RRAB DBy WS AR
difference across the combination is med%obgmw%ﬁ’ T3 DYIee03s de*’wu
(A) Zero : (A) 2R3 (0)

(B) 100V ‘ ' (B) 100V

(C) 200V (C) 200V

(D) 400V (D) 400V

Space for Rough Work / 208D éo;-’.,s* %qj
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30. Ohm’s Law is applicable to
(A) Diode
(B) Transistor
(C) Electrolyte
(D) Conductor

31. If the last band on the carbon resistor is

absent, then the tolerance is
A) 5%

B) 20%

©) 10%

D) 15%

32. The effective resistance between P and Q

for the following network is
R
30 30
VWA
6Q
40
P
@ Lo (B) 21Q
12
© 120 o La
21

5Q

30.

31.

32.

BT QO3 TORORTO
A Foder

(B) RIF (BRI
(C) R’

(D) To=8

2000 BWFY SReEn daScd wed
RoBed T3  AQRmR  STReFET

JEsPeoo _____ enaes.
A 5% B) 20%
©) 10% D) 15%

8 3910 SReOATHR OB P IR Q 19

abq% VORI W), drerw)
2
3Q 3Q
6Q
- 4Q 5Q
P Q
@a L B
T B) 21Q
1
C) 120Q 2
(8)) (D) 219

Space for Rough Work / %0 GOSS‘ g
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83. Five identical resistors each of resistance | 33. R = 1500 Q@ @00%% wode wicd 5
bR = 1500 Q ;re connected to a 300 V ‘ medﬁg@t 300V wRuOR - weednd
attery as shown in the circuit. The -
reading of the ideal ammeter A is RRRTRR Fpeer BoBOTY, Eredrd.
STBF REEFTI (A) De@on®
300V_t:—_ R SR %R R <R 300V{——1-{—— R SR ~$R SR 2R
1 g, 1 3
— A B) = = B) -A
(A) E (B) 5A (A) 5A 3
| 5 ) . _ R
C) =-A D) — = A D) =-A
(®) 5 (D) = A | (®)) = =
34. Two cells of internal resistances r and ry 2003e 2o R .. Y, SCR B
and of same emf are connected in series, 30308 BRGR) 1 BB 1y VBY [RDNIR,
across a resistor of resistance R. If the R BRe3RY, Sregd egzon Jerd PotnY,
terminal potential difference across the HReAROINT. ©0308 BReQ ry 3 OFF
cells of internal resistance r; is zero, then L300F I DPeoo38 B FoNdoZT.
the value of R is Tonco, R & Bd
(A) R=2(ry +19) (A) R=2(r) +1p) |
B) R=ry-r; (B) R=ry-1,
(C©) R=ry-r
(C) R=r;-rg L. 8
‘ (D) R= 2(1'1 = 1'2)
(D) R — 2(1‘1 = !'2)
Space for Rough Work / 8.0 !EJ‘.!I% 3
¥ do
o, * '
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85. The I-V graphs for two different | 35. P 303 Q 20w Q0B wGING I1-V 6§§8

electrical appliances P and Q are shown 39n30383. Rp 3 Rq nd  eaPyne
in the diagram. If Rp and Rq be the draez;itfﬁvancéd
resistances of the devices, then
A Q A Q
P P
I I
0 » 0 >

vV—

(A) Rp=Rq (B) Rp>Rg (A) Rp=Rgq (B) Rp>Rq

RQ RQ
(C) Rp<Rgq (D) Rp=-2 (O Rp<ERq @ Rp=—2

ok l 2 ) . l
36. The correct Biot-Savart law in vector 36. 203 #dciw Gl 0HTIT

form is .
IO #mddmﬁ@ﬁ@é draaﬁd@w
o _ M I@Ixr) -
(A) dB-4n‘ -2 A) dg=@- Id! xr)
- - 4n r?
_’_ﬂ_ Idl xr) 3 =y
B e = B) 4B -k IdIxr)
S 5 . 4n rd
Id! :
(C) dB =ke | -
o () dB = ko Idl
D =H_0.Idl -
D B D) dB =Y  Id!
| 4n = .3

Space for Rough Work / 2.8t Gvﬁi #gé
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87. An electron is moving in a circle of radius

39.

r in a uniform magnetic field B. Suddenly

the field is reduced to % The radius of

the circular path now becomes

(A) B) 2r

DO |~

(8) (D) 4r

> |~

A charge q is accelerated through a

- potential difference V. It is then passed

normally through a uniform magnetic

field, where it moves in a circle of |

radius r. The potential difference required

to move it in a circle of radius 2r is

A) 2V “(B) 4V

e 1V (D) 3V

A cyclotron’s oscillator frequency is
10 MHz and the operating magnetic field

_ is 0-66 T. If the radius of its dees is 60 cm,

then the kinetic energy of the proton
beam produced by the accelerator is

(B) 10MeV

(A) 9MeV

37. B R 2oIFERBTY, wod 2GR, r

39.

3R, IR, WBORIT. [T Too3ge3,
B oy dadbomrodd. 398 $uR
WO

(A) (B) 2r

[ SR

(C) (D) 4r

> |

V  Oyinodtn®, word- q usesEmy

eBoder  @Ramn, IR 03 FI30Y,
ToRe* &N 1 BRI, FZIY, BORIT.

333 &y 2r ©OC, WOIW Bemorddas

D000 Bew),

A 2V (B) 4V

© 1V (D) 3V

2000 AR wodreod GRS
10 MHz 303 d3F %0 5003833 0-66 T
|ZR. ek D nd dHR 60
Ro.Qoe. - }RIB.  ToenY  FEREERI
SerteZRrsnes Jpewns® rOBR TED
8oy BoR Bgodn |

: (A) 9 MeV (B) 10 MeV
D) 11 MeV : : :
i T ® (C) TMeV (D) 11 MeV
Space for Rough Work / 2.083 'ivzﬁtzgi
b0
2 0 bbX 10
: 4 00 0
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40. Needles N;, N, and N3 are made of a
ferromagnetic, a paramagnetic and a
diamagnetic substance respectively. A
magnet when brought close to them will

(A)

(B)

©

D)

" and Ns weakly

Attract Ny and Ny strongly but

Attract all three of them

Attract N, strongly, N; weakly and
repel Ng weakly

Attract N; strongly but repel N,

40. PSee, e I} BOIR  T08D
Invomd N,, Ny &332 Ng <20t a:b:ada‘
Zpensh. 83 RRRnY BET .08 O
Lilale

(A)

(B)

©

QOB FFAFRIZT

N; 3 womn BaArRgs Ny &
femsoson 3F Ny I, fersosson
QBRSBTS

N; &, wemon Bar3s ¢ N,
) N, AP germmomon DFar03c

D) N, DR N, ¥R wemn
repel Ny BAFRZE  wT3 Ny o)
FXFROIT
41. i'IS‘"he strength of the Earth’s magnetic field a1 BRa0d 5003 ge3)
A) Qe 83 wod
(A) anstant everywhere ( ') G aahe: eh&gd
' (B) 2 38 Be7, A3
(B) - Zero everywhere -
o (© owe BRNSZS
(C) Having very high value
_ ' : (D) gedood Boed | Doed o
(D) Varying from place to place on the =
| | paalla AR ¥, wdmdz%’
Earth’s surface =38
- Space for Rodgh Work / 2.0 3058* %ﬁ? '
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42. A jet plane having a wing-span of 25 m
travelling horizontally towards eagt m:ﬁ
a speed of 3600 km/hour. If the Earth’s
magnetic field at the location is 4 x 194 iy
and the angle of dip is 30°, then, the
potentlal deference between the ends of

42, 25 m QO

TR, womd e
DRPIF) 8600 km/hr Ferdd), e
2PRFE WBORIE T0IBFIH) 4 x 1074 T
RBY 0338 30° R, VOIS TR

(A) 4V (A) 4V
(B) 5V
(B) 5V
C) 2V
2% D) 25V
D) 25V
43. Which of the foll 43. IINIINSQ, o3RI, 5,08 boin%ﬁ; Xp)
. ch o e following, represents the .
variation of inductive reactance (X;) with Br3R Qyn B%@Oﬁ) (v) 5533?5# BReDRIT
the frequency of voltage source (v) ? gy Xy, T
XL A (A) X ) |
(A) i [4 _
v .
XL .
Xp4 i J .
-(B) J v
XL A e /
© / [—”’
Y XL4 :
Xy 4 - I k
(D) \ Y
LV
g}’\ ' Space for Rough Work / 2,083 SO"’# “"J
}W/ )4 e
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44. The magnetic flux linked with a coil

varies as ¢ = 3t2 + 4t + 9. The magnitude
of the emf induced at t = 2 seconds is

(A) 8V
(B) 16V
(C) 32V

(D) 64V

. A 100 W bulb is connected to an AC

source of 220 V, 50 Hz. Then the current
flowing through the bulb is

5
A) —A
(A) T

. In the series LCR circuit, the power

44, Fodcd RoeR woSES FHF,

o =3t2 + 4t + 9 doZgFamen, t =2
#8039 Beoed DTS Q.00 .F°. &
BRTeD

(A) 8V
(B) 16V
(C) 32V
(D) 64V

100 W & 2080 uq{&l 220 V, 50 Hz 8%
TBognFoD HES edd!% doelamon o

WO Bo0a0030 BOOXVE DT

3erd LCR  Fpeorsdordond)  odngad

dissipation is through B0202038 WIF,F I 3R
A R A R
(B) L -
© ¢ @ o
(D) BothLandC
D) L% C
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4. In Karnataka, the normal domestic power

49,

supply AC is 220 V, 50
5 Hz.
and 50 Hz refer to " Here 220V

(A) Peak value of voltage and frequency

(B) rms value of voltage and frequency

(C) Mean value of

volt
frequency age and

(D) Peak value of volta
frequency ge and angular

A step-up transformer operates on a
230 V line and a load current of 2 A. The
ratio of primary and secondary windings
i.s 1 : 25. Then the current in the primary
is

(A) 25A
(B) 50A
(C) 15A
(D) 12-5A

The number of photons falling per second
on a completely darkened plate to
produce a force of 6:62 X 105 Nis ‘0’ If
the wavelength of the light falling is
5x107 m, thenn=__ 1022,

(h = 6:62 x 10734 J-5)
A 1

B) 5

(C) 02

(D) 33

47. BruEn T euBcdnenN WIS AC

s ot 220 V, 50 Hz, a033.
oGS 29,220 V 3032 50 Hz 20530

A) R Bon B3 oI &HY

(B) YR rms 236 RoB) &

©) oY=t ZooRd B8 &R Sol

D) ORE Bon IS 3R Bees U3

930 JSFIH YIS T 2A BReR
Jeo® 2eondR 208 JORIFIT BT
2009 =3y OPeadds 28918 R0THIR)
1: 25 958 Ted 2o89c3E) BOIVH
QT BB

(A) 25A

(B) 50A

(C) 15A

D) 125A

6:62x10° N woaﬂ&iwqaﬁw HoTPeoF
B[N B, woTd Zoan LuT Boed
pedtienss pemrd Rosh, W SN,
3983 30on BRTR 5 x 1077 m SNEY,
n=_ x1022 (h=662x1073%Js)

Aa 1

B) 5

© 02

D) 33
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50. An object is placed at the principal focus
of a convex mirror. The image will be at

(A) Centre of curvature
(B) Principal focus

(C) Infinity

(D) No image will be formed

51. An.object is placed at a distance of 20 cm
from the pole of a concave mirror of focal
length 10 cm. The distance of the image

formed is
(A) +20cm (B) +10cm
(C) -20cm (D) -10cm

52. A candle placed 25 cm from a lens forms
an image on a screen placed 75 ém on the
other side of the lens. The focal length
and type of the lens should be

(A) + 1875 cm and convex lens
(B) - 1875 cm and concave lens
C) + 20'-25 cm and convex lens

(D) - 20-25 cm and concave lens

50.

51.

52.

263 BIFes JFOS Foniad 2oORIY,
OB BRBI, I 9530 [SWoWD) O,
B33

(A) TJgzo §eol,

(B) Teos Roriasd womd

(C) B

(D) Tewow RRBROY,

womd  JR[I), 10 Fo.ae. Ronsd
BRTHTR 2080 AR BB IAblela)
20 Bo.Qoe. BAOBE, BBERND.  BTH
POLORRAT Jdwows BT

Chlebrin
(A) +20cm (B) +10cm
(C) -20cm (D) -10em

2000 BRRCDT 25 ¢cm 03O
Boerel  WICH T[3WowR) RoRATT
fa?.'i@lod) 3@R 75 cm esoédzﬁdgﬁ Foe03T.

TMES WO RS cIRFD =)
RonSorRdH) ?

(4) &3 D3 B +18-75 cm
(B) Q&) 33 BB -18-75 cm
(C) e R WY +20-25 cm
(D) Q&) =RRT ZY -20-25 cm
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5. A plane wavefront of wavelength
A is

incident on a single slit of s is | 53. 3 3Y0orwo30RE, 30onR0DII, o
angular width of princj Width a. The
principal max; _ gegrioRodd Boed FOOWRTS. AcTnoRCL
mum is S SeE Do
(A) A ® 2 oo a SN0O JIHP & e
A BReQ0% BNY
© D) & @ = ® =
2\
a a
©) % (D) )
. In a Fraunh . ) :
slit, if Y:How ?::;t?l?mmn at a single | 54. ©F Atbr0R TWFTET QIBFHDY,
’ uminating the slit i
rechsosl by Elis: Hghts thoey fteetion |-~ RooReR), LIS B0 BRD
bands Sos3  wzon  2ed WS VIS
(A) Remain unchanged svoipenass, DEIFS IROTF D
(B) Become wider (A) '&C‘g@ﬁ 383
(C) Disappear (B) ®©nomon3sS
(D) Become narrower (C) BT
(D) #0TRro3
_ In Youngs double slit experiment, two 55. odoon’ Daesono’ Bodeentd,
wavelengths Ay = 780 nm and A =780 nm SR A = 520 nm
Ap = 520 pm are used o0 obtain Jgormo3dd Biesy  eumcdnens 8RO
interference fringes. _If the o bﬁgl:lt; $ess R3PS POWTW eed. o
band due to Ay coincides w:;h (:;11 + 1{). BrosREeDd Bormozas A, HR3R (0 + Pth
: then t. eofn |
bright band due to A3, then e valu ZmBTHaD Ay sdieamn, n 3 BS
is ' :
i 4 A 4
) (B) 3
) ® © 2
G 2 @ 6
_oms
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H
Pt o
Phimi - n (21 -H)
hysics N 4 . ot



Zo3Rena

56. In Young's double slit experiment, slits | 36 O%0N'S Quedriod
. In You ouble slit ex ) .
o w|  Aetrooane mss @esd 2 mm,
are s te mm an €
e - pesorior @3y IIBeH SBDT  ©od
placed at a distance of 1-2 m from the > 3
. 12 m @@, 6500 A @03y 5200
slits. Light consisting of two wavelengths Seis Sl
5 IR
6500 A and 5200 A are used to obtain 3CormoZond s il
o S ISDLPIN]N =3
interference fringes. Then the separation ﬁd&aodoowafod 3(;; ) =
° =~ =
between the fourth bright fringes of two HOWNY BRRDT 030Y)
different patterns produced by the two S
‘ (A) 0-312mm
~wavelengths is
(B) 0123 mm
(A) 0312mm
: _—
(B) 0123 mm . (© 0213mm
(C) 0213 mm (D) 0412 mm
(D) 0412 mm
L |57 Fpein  adeRs  nomy  wossiodw
57. The maximum kinetic energy of emitted S g 35
photoelectrons depends on ,
(A) Intensity of incident radiation (A) o3 Q8dd 3e33
(B) Frequency of incident radiation (B) &3 D803 Sot
(C) Speed of incident radiati .
P = (O) 903 28003 Sen
(D) Number of photons in the incident .
radiation ' (D) e3 VTS Jpetp Ny #oai;
Space for Rough Work / 2.8t sza’i% %sf A
| | o . b600
d.: Kkt . ?\\’ o A
, . . & 410 |
_ ” geo ' r n “ ; . 19
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r

to i
A prO n and an a par l’.lde are accele t d
Trate:

through the same
potential diffi
: . ere
The ratio of their de Broglie w nce V.
is aVElengths

@A) 2

(B 22

©) 3
D) 243

"I‘he total energy of an electron revolving
in the second orbit of hydrogen atom is

(A) -13-6eV
(B) -151eV
(C) -34eV
(D) Zero

The period of revolution of an electron in
the ground state of hydrogen atom is T.
The period of revolution of the electron in

. BRERET

58. 2.05¢ ogeeo3d V 3, 00 eI

Ror®) - BENTR, s SRamN,
eaYnS B W), 3hormo3T BRITS,

@& V2
B) 22
© 3
(D) 23

Lo Do e T SAL o0aS dEoQ,
S Lot 2,430 38

A) -136 eV

B) -151eV

(C) -84eV

(D) Zero

dosRrnoRg, | @R
s&aosaqadad KT’ peeinleloveloy 3k
dodE =0 T, ugd, Sege evdesd

the first excited state is
30376 ST 3
- 38030 AU RoBR30B egaﬁtp
- £ A) 2T
: (B) 4
(c) 6T s
(C) 6T
() 8T
_—“’-‘/ (D) 8T
space for Rough Work [ 3,03 soxd
W
g 2 >
/‘3 b 2 4 )4 \
(23 -H)
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